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wa1$uhas, a 3.15 m tall tree, and an

1125 m tall Dbuilding are

positioned such that their feet on

the ground are collinear and the

||6 S tree is located between Suhas and

S the building. The tree is located at

R a distance of 45 m from the

building. Further, the eyes of

Ll Suhas, the top of the tree, and the

1% s top of the building fall in one line,

and the eyes of Suhas are at a

height of 1.8 m from the ground.

At what distance (in m) from Suhas
is the tree located?




geN, Ud 3.15 Hiex o4l Us, 3R 1P
11.25 #IcY Hdl ARG 39 ¥ Rerd
g f& 9 | S99 W tavdlg € 3R
Ug e 3R TR & §= Rem g
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(a) 6 (b) 5
Jef 7.5 (d) 9
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If a right circular cone of height 24
cm has the circumference of its
base 42n cm, then the volume of

_ 22
the cone is (useﬂ = 7]

g% 24 9N FHIE I (P @9 g
G & YR 3 gk 42 W 9 B, @
Y BT AT B

()

(a) 15211 cm3 R ua(wss cm3

(c) 12034 cm37( W 21011 cms



cos 0 cosO .
y is equal to:
secO—-1“7secO+1 1
(a) 2sec’0 yz/cotze
(c) 2cos® 6 (d) 2sin” 0

&



B
X=Y_
=R 16 Wix

Q W -4 =0

C

O

InAABC, the straight Iline
parallel to the side BC meets
AB and AC at the points P and
Q, respectively. If AP = QC, the
length of AB is 16 cm and the
length of AQ is 4 cm, then the
length (in cm) CQ 15

AABC ¥, ¥GiT BC & WHMiax
war 9 fdg P 3R Q ) AB 3R
AC ¥ fAiach 21 afs AP = QC &, AB
D! darg 16 I B R AQ @I el
4 I B, A CQ &I dars (FH H) &

N (2421 +2) ){(2@-2)
Usr(2V17 - 2) (d) (2v19 +2)



Aman wants to get his special
overhead water tank having a
‘Ttiameter of 7 m, painted. If the

& ost of painting is Rs 13 per

riare meter, find the cost of
‘\ﬂ'\ painting Aman’s spherical
Q\W overhead water tank.

(Usen = E]
I |

IJHA U 7 Hex I qrl 39w
JAaves UMl & cd D Uc HaHI

Irear & Iafe ufeT & arg 13 v
i g #Hiex 8, o W & MAdR
@ AR UM DI Thl B UfST B AN
)% ) A\ @ W]
) Rs 1,872 ) Rs 1,984

st Rs 2,002 X) Rs P(E:G (USM ) 22)



If (x+l]=5«f§, and x > 1, what

X

/Wf (xﬁ . Kiﬁ) ?

2303023

(d) 22960+/23



(Ou‘bq-d}z

Simplify the given expression.

0.09x0.09+0.04x0.04+0.16x0.164+2x0.09x0.04 +2x0.04x0.16 +2x0.09x0.16

0.3x0.3+02x0.2+04x04
\ U
a b C

feT MU AP B WA P

0.09x0.09+0.04x0.04+0.16x0.16+2x0.09x0.04 +2x0.04x0.16 +2x0.09x0.16
0.3x0.3+0.2x0.2+0.4%x0.4

(a) 0.39 (b) 0.24

() 0.32 (40.29




The sum of the radius of the base
and the height of a cylinder is 42
m. if the total surface area of the
cylinder is 6336 m?, find the
: curved surface area of the cylinder
rect to two places of decimals

ws)  RPRE

QXR_?:X%HM? W A B IER B B ok s
T &1 AT 42 Hiex 8| IR 99 6T Fol

(a) 2157.43 m? EE &Be 6336 T AeX &, A Yo
\Y b)2571.43 ma 7 T WE 0 T B

WMl TF a1 S BN | \C;‘,

QSC\L A€ 2715.43 m? . R
mqﬁm© (d) 2517.43 m? [U““ = 7) %6




If cos A=—, then find the

value ¢ tanA + cotA p to tw
laces of decima | =
ScC

u
63 Sn2
zrl%rcosA- %?ﬁtanAMotA

(d) 5.23



and (a + b),= 30,
|o
the value of ab?

Eaﬁ?(a+b)=30



MM“W-’WWSOIVE (1+5+7+ 11} (3 5).

‘%TI' 6 8 12) (4 8
gt | ww
2 % (LSIAE8
P 6 8 12) 4 8
el 29 (b) 39
(c) 19 (d) 49

®



2

f sina+cosa=-—then what is
/f)mmch—»lw%ﬁ- B
tana +cota) equal to?

%QS(:% gfe sina cosa=%
=1 (tano + coto) NpHd RN &7

(a) 1 (b) 2

\/ Td) 0 "Slz



Simplify the following expression.

0.01 + 0.68 x 0.68 + 0.22 x 0.22
+ 0.044 + 0.136 + 0.44 x 0.68.

frferaa aifYeafts @ wal IR

0.01 + 0.68 x 0.68 + 0.22 x 0.22
+ 0.044 + 0.136 + 0.44 x 0.68.

(a) 0.69 — ( mess |

(c) 0.8 —>¥ (d) 0.9 =39

O



If sinO+ cosO = 2 find the
29'

\—
sinf + cosb _— PJ‘B

sin® - cos0 f’.—e

1
29’

value of

Ife sinO+ cosO = G|

sinf + cos0O

|9 ST BN |
sin0 - cos 0

43
T ) oo

41 1
e d) —
te) 29 %) 43



Find the volume of the largest
possible sphere circumscribed by a

cube of edge of 7 cm.
80 F7IS 7 ¥R R A R T R

C?_@_j__ U el BT AT ST DI |
3 7T \_#'179.67 cms
Yo \2q (b) 169.67 cm3 @

3 J{ . (c) 189.67 cm? ;
= 7&1 (d) 199.67 cm? MM
KL e
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1|l
J3\ 3

N(4)

If a’ +i2=%, then what is the

a

value of |a’ - i-a) ?
a

AR ot k=T (aa—la)s“ﬂ?ﬂ

a’ a

q 47 87
(@) = u&ﬂ/ﬂ
3J3 3.3

(c) 33



If in APQR and ADEF,
LP=082° £Q = 74°, LR = 54°,
/D = 54°, JE—=~74° and
£ZF = 52°, then which of the
following is correct?

g APQR 3R ADEF
LP=0582° £Q=74°, LR = 54°,
/D = 54°, ZLE = 74 3R
< F = 52° 8 o =falad § 4 o9

(c) APRQ ~ AFED

7~ N\
(d) APQR ~ ADE



Minor arc BC subtends angles BAC
and BDC at points A and D,
respectively, on the circumference
in the major sector of the circle
with centre O. what is the value [in

degress] of (£ ABC + £ ACB), if
ZBDC =173°?

Y 99 BC &% O Il 901 & W
roags @ IR w® wae: g A R
D TR HIT BAC 3R DBC 3fdRd &Hdl
gl (ZABC + £ ACB) & 99 (@0
#H) @ e, s «BDC =738 ?

(a) 117° Ay 107°
(c) 103° (d) 113°



g = 3 —
13__%3_ Qf0 If x 270 + y3 and x = (6 + y),
then what is the value of (x +y) ?

UKAY = 6
-Aa (given that x > 0 and y > 0)
r).@-?ﬁ_,lg =45 IR 23 =270 +y* AR x = (6 +y) B,
9 ﬁ‘f(xd-y)iﬂqﬁﬂm'g?
A ?7—29l -~ 30 (a8 <@d g f& x> 0 3R y > 0)
_ (a) 243 b) /3
A= . "
43 (d) 42



21 G=J2-!
?’2. VJ':.
2 2
= K =
’Lz_ Y /r___?r
2 2
_v—.:Qr?_

If cot A+ cos A =pand cot A - cos
A = q, then which of the following
relation is correct?

ﬂ'ﬁi’cotA+cosA=p3ﬁ'\'cotA—
cosA=q%,ﬂ1ﬁWF31f@Hﬁ'\eiﬂﬁ?r

AT HeY el 87

1 2 2
a = +
()\16 p°+q

lb)i-p +q° ©
S G

(d) 4pq =p* +q°




What is the value of the expression
ﬁ% | .
ﬁm si A(1</“nA)+co A SA}?
K_cos A sin A
P P A 94T &
sinAl1+ 228 ). cosa[14+ 2252 s
cos A sin A
\,(a‘)/ secA + cosecA
b) sinA+ cosA ' \
% ViSuelit

(c) sinA-cosA

(d) secA-cosecA



Simplify :

(3.321)" +(2.681)" +(1.245)" -3x3.321x2.681x1.245 o

(3.321)" +(2.681)" +(1.245)" - (3.321x2.681) - (2.681x1.245) - (1.245 x 3.321)

oM 2abe . = Wb
e LSTPEN AR

(3.321)" +(2.681)" +(1.245)° - 3x 3.321x2.681x1.245 )
(3.321)" +(2.681)" +(1.245)" -(3.321x2.681) - (2.681x1.245) - (1.245x 3.321)

(a) 6.125 (b) 8.645

W 0 (d) 10.245

?




In a rhombus STUV, S and U are

|/ joined £ SUV = 44°, / STU =92°,

, what is the degree measure of 4
ZSVU - 3£ TSU?

g0 54 SUV = 44°, /STU ~92°
/SVU - 3/ TSU o f$ft A9 &

7’ 27

63—]3 (a) 451° (b) 360°
(c) 169° 236°

Q

D




The sides of the three cubes of

metal are 15 cm, 18 cm and 25
\ cm, respectively. Find the side (in

cm) of the new cube formed by
melting these cubes together.

g @ oI TAEl Bl YA HHI: 15
I, 18 9l 3R 25 | €| 39 =AM
® TP 9T fUuge™ ¥ §9 90 99 &
oIl (A9 ) 1 PIfoIg |

) 93/388 ! di
g) 63/388 G\ (9“‘

)() 73388

4y 43/388




N ok T <x(S)
s

(a3+b3+c3-3abc) BT AM STd DIV,
7~ N\
a =335, b =215 3R ¢ = 180.



How many litres of water can a
hemispherical tank of radius 2.1 m

22
contain? (Taken = 7}

S 2.1 AR Bl I TS SETOR
¢ ¥ fhan ofiex Ul o 9Hdr 87

(a) 18984 Y
(b) 19324 A

(c) 18404 A
(d) 19404



What will be the perimeter (in cm)
of the sector of a circle of radius
4.9 cm having central angle 144°

(Usen = 22) ?
7

144° DEI HIVT a1 4.9 J9 B
del U 99 & roa@s &1 uRAmg (@
#) &1 8ITT? |

Y)

(a) 2112 of Cﬂx

e o( /
(c) 23.23 P

(d) 22.12/




If a = cotA + cosA and b = cotA-
cosA, then find the value of a2-b2-

4./ab .

Ife a = cotA + cosA 3R b = cotA-
cosA, T a2-b2- 4ab FT HH Td

sl O-0- 0




Simplify the following expression.

fr=folRag aioe & WRd DI,




The given expression is equal to:

(a) Sin” 0cos® 0

l/brﬁzecotz 0 A{s}_
=

(c) cot”’ Bcos® O

(d) tan® Ocos® 0



If asin45°=Bcosec30°thena” /B*
is: ! ¢ 2
(a) 44 -:(25-1)': XL=\U
(b) 33

(c) 2°



R,
In AABCand APQR,

\-..____J
/B=/0Q,/C = /R and AB = 2POQ,

then the two triangles are
AABC 3R APQR ¥,
/B=/0Q,/C=/R 3R AB = 2PQ, dl

. BELE! g |
B(LML a) congruent as well as similar
@\ I A R THwT @

W (b) neither similar nor congruent
/ 7 & THY 7 8 HahTaw

similar but nor congruent

THHYT UR HIREH 8]

d) congruent but nor similar

AT R GH®RY A8l



Simplify the following expression.
Wl(x-5)(x-1)]-[(9x-5)(Ix-1)];+16x
frfoRead sifveafh a1 wra o |
{[(x-Syx=1)]-[(9x-5)(9x-1)]}+16x

(a) 2x(5x-3) 70

(b) ~(5x-3) _~



If [x———l-J nd x > 0, what is
X

the value of (xz ¥ i] ?

2
X

(a) 4.16
(b) 3.32

T
2k ®



If x2-11x+1=0, what is the value of
x8-14159x4+117

Ife x2-11x+1=0, o x8-14159x4+11
&1 A9 T 87

(a) 9

-
(c) 12 |S‘Cﬁﬁ
(d) 11 /



(atb+c)?~(a-b+c)? + 4 ac
fr=feRaa afYeafts &1 wa DI |
(atb+c)?~(a-b+c)? + 4 ac

) 4(bc+ac) v

(b) 2(ab+bc+ac) \)(

U+bc+ac) -

(d) 4(bc+ab) 0( /@

()/\ ” m gL Simplify the following expression.

oy




If x2- 5J§x+1=0, and x > 0, what

/::e—;m:f (x —la']?

(a) 13314

(b) 1364 l @




Simplify the given expression.

> (0.25)" +2x(0.25)* +1-(0.25)’

0\‘1.]-0(2[%2:,, b (0.25)° +0.25+1
' =0dH=ab (a) 0.6755

OP\MJOM}’ — |+0*062§§ (b) 0.9025
o 4 Vmo(sms @

- 016'5 (d) 0.7835

—




ALON and ALMN are two right-

angled triangles with common
hypotenuse LN such that
Z/LON=90° and ZLMN=90°. LN

is the bisector of ZOLM. If LN =

29 cm and ON = 20 cm, then what
is the perimeter (in cm) of ALMN ?

(a) 67

(b) 62
(c) 65




If x* +i = 194, x > 0, then find

4

X
s 4 1
the value of x" + — +x+—.
> (3
(a) 76 gl \1

(b) 66

@rse

(d) 46



If X2 + y2 = 427 and xy = 202, then

find the value of act ¥ 4 :
X—-Yy
(@) o ’————
\ 23 2)3\
830
B ==
(b) \ 29
O
A\ 23
830
(d) \[—

23



-9, what will be the




Evaluate V3 +12 , given that J6 =

B2

(a) 7.7

AU s

(c) 8.8

@ (d) 6.6




’:r'; In a triangle ABC, AP, the bisector
of /A, is perpendicular to BC at
point P. The measure of BP and PC
are x and 3y respectively. The

measures of AB and AC are 4x and
(Sy+21). What is the value of (x+y)?

s ST ABC #, AP, &1 WHfgHIG,
fdg P .} BC W @9ad 8| BP 3R PC
A1 I x 3R 3y & | AB 3R AC




If AABC ~ APQR, the ratio of

perimeter of AABC to perimeter of
APQR is 36:23 and QR = 3.8 cm,
then the length of BC is:

gfe, AABC ~ APQR, AABC &I TR
3R APQR URAY &1 Uld 36:23 &
B6X3¥ 4 QR = 3.8 §Hl 8, O BC &l wdlg

(a) 4 cm l}l-)/si(:scm

(b) 3 gcm ><) 3107cm
115




sin0—cos06 ﬂ'. then the value
sin 0 + cos 5’
cosec’ 0

2 cosec’
(a) g

.0 "'"’c', ‘i
(b) T é -

41 -.S__."’ S'ﬁ
0 C A
(d) o |

30



The algebraic expression 4x2-y2+6y
-9 is equal to

SV ISP 4x2-y2+6y - 9

i

P
y-3)(2x -y + 3)

K (2x-3-3) 2x5y 7Y
(c) (2x +$—31’7o)
(d) (2x +y + 3)2

/S




If x = (V6-1)"°, then the value of
\ 3
X—-—| +3|x-—|1s:




x?+1

= 5, then find the value

/ ﬂﬁ' 'at}'\ X
1

of x* +
x‘l—

36.

QU/\W 3 R 2 o5 ar xte Ll g6 W

(b) 149
()[) (c) 419

(d) 194



Subhas, a 3.15 m tall tree, and an
11.25 m tall Dbuilding are
positioned such that their feet on
the ground are collinear and the
tree is located between Subhas and
the building. The tree is located at
distance of 7.5 m from Subhas and
at a distance of 45 m from the
building. Further, the eyes of
Subhas, the top of the tree, and
the top of the building fall in one
line. Find the height (in m) from
the ground at which Subhas’s eyes
are situated.



3.15 #leX o4 Us guIy 3R 11.25
HleR Sl $9Rd 39 e Rea § &
S W S IR THEE § SR U
gAY iR FART & 9= Red 81 U
gAY | 7.5 A B T W AR 3R
q 45 Hicy & W ® Ra g1 99



The diameter of a sphere is 14 cm,

‘} then the volume of this sphere is
(Use n = 22/7):

Mo & AGdd sd iy, Rrga!
RS 14 991 8| (n = 22/7)

2

‘/(a#/143}:1; cm3 )() 15217 em?

1 3
i Joemt= et
2

-\._./



RT3

If x = (7 +35), then find the value

1

X

Ifg x = (7+345), x”+~l2$T |9 ST

X
a?rﬁ“:m |
580 315
Vfep
799 + 323( £><

799 + 315J_

799 31




If © is an acute angle and sin /cos

S*’:—Q(I-S'L) ""__](.1_ = 22??'5) %c/osﬂ' then the

value of sinf is:

?SQ:l'LlS"?: D qiq 0 U “ﬂ?l'cﬂ'”T g 3R sinBcosO

= 2c0s°0 - lcosﬁ 8 d sin® &1 9

s:-\‘\ "j_'_..“ﬁ'\'qvf 5 . @
\6 JE 1 (c) J15 +1
—-,I?T J/ﬁ 1 (a */1?2"1




i
Y(3F6
Aot 8 Y

ﬁ" Ifx?- 9.76x+1=0and x> 1,
1"|

{

the value of | x

\

gt x2- J9.76x+1=03R x> 1,

x® - |PT 99 &

(d) 24.042 0

X

3

/

is:



Ifx2-3.2x+1=0and x > 1, then

value of rHz:tz - xiz is:

e x2-32x + 1 =03 x> 1,
(&2) \jaq rxz—xlzﬁﬂm?'é}:
’3%)([1 ( |03(1> (a) 16.80.39 @

(b) 12. sJﬁ"/

(c) 16.8./0.32

(d) 12.8./0.32



It is given that A ?_9]__("‘:: A MNY
and PQ = 8 cm, ZQ= 55° and /P=
72°. Which of t lowing true?

& T3 APOR ~ AMNY 3R PQ = 8
ecm, /Q= 55° 3R /P= 72° B
fr=ifeiRaa & & @9 <1 98 &7
)<(a)NY= 8 cm, /Y =172°
(b)NM = 8 cm, /M= 53°
(c)NM = 8 cm, /Y =53
X(d)NY = 8 cm, /N =55°



= O— Qak™
At
5 X = (&)

7(Ifa.;wz+by= land’lcnlz’+ ay = 3,7

then the value of x (in terms of a
and b) is:

2ab
aZ+b?’

'ﬂﬁ\'ax+by=13ﬁ?bx+ay=
dl x (U5 a 3R b #H) &1 99 ©:
2b

(a' az +b2

a
\./u’raz + b? @




Simplify the given expression,

frr=ferRad sdeid &1 axel N

(x+3)° +(x-3)
x? +27

Yon
(a) 3x P)W

(b) x



12

If APQR ASTR, /Q=50°and

4P=Mis 8 cm. Which of

the following options is NOT
correct?

gfd APQR ~ ASTR, /Q=50°3R
/P=70°3R PQ 8 |HI & fA=feiRad
§ 9§ B 91 fdpeq 98l T8l 87

\_MSR = 80°
(b) ZPRT = 60°
(c) PR=RS
(d) TR = RQ



The given expression is equal to:

W‘ﬂg& d,\ (cotB - tanB) . sinB . cosB

&l g Iod fhad TN ©:

cotB - tanB) . sinB . cosB
(a) 1 - 2sec?B
(b) 1 - 2cos?B

'EGJV\ + (O'f_-—- —L \MCOSZB 1

(d) %secfZB 1




In ACAB, ZCAB= 90° and AD |

BC. If AC = 24 cm, AB = 10 cm,
then find the value of AD (in cm).

ACAB ¥, /CAB= 90° 3R AD | BC
2| afe AC = 24 991, AB = 10 99, o
AD $T 99 (99 #) 2|

s 7

(c) 7.14 f\\")
(d) 10.23 2



If g = [2—\/5), what will be the
-é—-:zz*b

value of -—|?

.




If cosecA + cotA = a\/E, then find

\_/

2
the value of (azb -1) :
(a“b +1)

ﬂﬁf cosecA + cotA

@b-1) o g 2
(a°b +1)

(c) 1/sinA

avb,



Simplify the given expression and
find the value for x = -1.

10x* +5x +2xy +y

OX +y
5—5 feT T 5d B IR BIY AR x =
_5+3 1 $ﬁl"§’ 10x° +5x+2xy+y$[q17‘f
Sx +y
K\Jerm'
(b) O
(c) 1

(d) 2
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